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Question Number : 1 Question Id : 2549896972 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main memory works in conjunction with which of the following?
Options :

1. # Special function cards

2. % Printer

3.¥ CPU

4. % Motherboard

Question Number : 1 Question Id : 2549896972 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T AR Fafaad & 9 forad a1y SaeH § & et 82

Options :

1. % WA haRH Hls
2. % i}

3.9 CPU

4. % O SIS

Question Number : 2 Question Id : 2549897520 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the key combination to justify selected text in an OpenOffice writer?
Options :

1. % Ctrl+E

2.9 Ctrl+)

3. % Ctrl+C

4. % Ctrl+K



Question Number : 2 Question Id : 2549897520 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

%ﬁ’cﬂ 3hy RISCX (OpenOffice writer) o Igd TR &l \_rlm CRCE ﬁ"l’Q PI-dIS Yiche |T
9

Options :

1. % Ctrl+E

2. ¥ Ctrl+])

3. % Ctrl+C

4. % Ctrl+K

Question Number : 3 Question Id : 2549898332 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of proprietary software?
Options :

1. # Linux

2. % Apache

3. ¥ Mozilla Firefox

4. % Adobe Photoshop

Question Number : 3 Question Id : 2549898332 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fRofafed § 3 o9 I MUt TIteddR BT IS8 82

Options :

1. % foMeT (Linux)

2. % 3O (Apache)

3. % TIFTAT BIRIRWIGT (Mozilla Firefox)
4. TSId BIeIRY (Adobe Photoshop)

Question Number : 4 Question Id : 2549898697 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With reference to computer 1/0, GIGO stands for:
Options :

1. ¥ Garbage In Garbage Out

2. % Graphics Input Graphics Output

3. % General Input General Output

4. % General Input Garbage Out



Question Number : 4 Question Id : 2549898697 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SR 1/0 b HeH # GIGO BT Ul U 1 &2

Options :

1. ¥ Garbage In Garbage Out (TTTSST 37 TTTelol 3113<)

2. % Graphics Input Graphics Output (";ITW <1YcC ATith 3{13cYcQ)
3. # General Input General Output (STFR YC W1k HT3CYQ)

4. # General Input Garbage Out (S-RA g1YC UIEK] 3137)

Question Number : 5 Question Id : 2549898748 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the internet terminology, the acronym W3C is used to describe:
Options :

1. # World Wide Web Conference

2. ¥ World Wide Web Consortium

3. % World Wide Web Communication

4. % World Wide Web Coliseum

Question Number : 5 Question Id : 2549898748 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

gedc Pl Nearadil |, W 7 wic F # 3 f5ge aui= & fore SuaivT fovar Srar g2

Options :

1. ¥ World Wide Web Conference (dQ’Sr a2 dd H13hY)

2. ¥ World Wide Web Consortium (3¢S d138 dd HI-IcgH)

3. % World Wide Web Communication (T¢e d138 a8 HRIFHR)
4. % World Wide Web Coliseum (3¢S 138 99 DIcIordH)

Question Number : 6 Question Id : 25498911554 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of following is NOT an input device?
Options :

1. ¥ Keyboard

2. ¥ Monitor

3. % Joystick

4. % Microphone



Question Number : 6 Question Id : 25498911554 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

5 7 9 &1 A T 37YC fEarsd T8l

Options :

1. % DLES

2. ¢ iR

3. % SaReH
4. % HISHIBI

Question Number : 7 Question Id : 25498912046 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Peripheral devices such as printers and monitors are considered to be:
Options :

1. ¥ hardware

2. % software

3. % data

4. # information

Question Number : 7 Question Id : 25498912046 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rt fearsdt o o fiieR iR AfFex &1 e & I o1 T ST 52
Options :

1. ¢ BIeaWR

2. % YREAWR

3. % gal

4. % -l

Question Number : 8 Question Id : 25498922572 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of procedural programming language?
Options :

1.¥ C

2. # Datalog

3. # Prolog

4. % Bash



Question Number : 8 Question Id : 25498922572 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

frafefaa & 9 o O ufthards Urnfi | 61 3eeRur 82
Options :

1.¥ C

2. % STCTANT

3. % I

4. % 9

Question Number : 9 Question Id : 25498929866 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Barcode Scanner uses the of the light reflected from a series of black and white stripes to tell
a computer what code it is seeing.

Options :

1. ® variance

2. ¥ intensity

3. % standard deviation

4. % energy

Question Number : 9 Question Id : 25498929866 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

DI & AR B! FHER GRT A O & fo7T TRBIS WhR BT 3R The TR Bt 4T 4
RTafid YebT=T Bl/dh HT YA FRAT 5 |

Options :

1. % g

2. ¢ digal

3. % O fdgaH
4. % ol

Question Number : 10 Question Id : 25498930316 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

X, formerly Twitter, is also referred to as Service.
Options :

1. ¥ micro blogging

2. ® macro blogging

3. * minor blogging

4. % major blogging



Question Number : 10 Question Id : 25498930316 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

X, Fordt ugdt fger o A1\ T ST SITet T, &l A1 P =0 & H ST ST B |
Options :

1. ¢ HIgehT AT

2. % Th] AN

3. % HGR AN

4. % TSR SN

Question Number : 11 Question Id : 25498930728 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who is a blogger?

Options :

1. ¥ The one who writes regularly for an online journal or website.

2. % The process of creating, maintaining, writing or adding content to a blog.

3. # The process of transferring file from internet to our computer.

4. # The innovative way of organising one’s thoughts and articles.

Question Number : 11 Question Id : 25498930728 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
AR BT GRUTST T 52
Options :

1. ¢ 98 fad s 3TaTs U a1 d9dTse R Hafig 70 3 forad 81
2. % SANTUR e & (AT, IWRGTG, AW 31ydT ufsfen ot ufshan|

3. % 3T Y AR HECR H HIed Bl RIMIARd B DI Ufshar|

4. % 5l & fqaR] SR Tal & afyd oA &1 3ifiFa aie|

Question Number : 12 Question Id : 25498930904 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
in pen plotters could be monochromic or multi coloured.
Options :
1. # Breadboards
2. ¥ Pens
3. % Pencils

4. % Rotating arms



Question Number : 12 Question Id : 25498930904 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Hwlicd sl Tl 3a gl 8l gl g
Options :

1. % STSds

2. U

3. % URyE

4. % i o

Question Number : 13 Question Id : 25498930927 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which type of network would you suggest for networking of a school building?
Options :

1. ¥ WAN

2. ¥ LAN

3. ¥ MAN

4. % PAN

Question Number : 13 Question Id : 25498930927 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TS [T & 3ARA W Aeafd T & o oy g o 9 ford TR & Aead & IUAT &1 g1d a2
Options :

1. 8 WAN

2.¢ LAN

3. ¥ MAN

4. % PAN

Question Number : 14 Question Id : 25498931020 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The characteristic of computers that can perform tasks without manual intervention refers to which of the
following?

Options :

1. #* Deligence

2. % Reliability

3. % Versatality
4. % Automation



Question Number : 14 Question Id : 25498931020 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

HUIeR 31 ag faRrvar sit o faredt ordia saaiu & orf o) ol 8, A 3 3 fore weftra g2
Options :

1. % URem (Deligence)

2. % fayT=ITdr (Reliability)

3. % Wﬂﬁﬁ-ﬂ (Versatality)

4, % I (Automation)

Question Number : 15 Question Id : 25498931065 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is an LCD Panel technology?
Options :

1. ¥ CMOS

2. ¥ IPS

3. % TTL

4. % FET

Question Number : 15 Question Id : 25498931065 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

frafeied & @ &9 W & Lep UFd daie /2
Options :

1. % CMOS

2. ¥ IPS

3. % TTL

4, % FET

Question Number : 16 Question Id : 25498910947 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With reference to flatbed scanner, a comprising mirror, lens, filter and CCD (Charge-
coupled device) array is moved across with the help of a belt and a stepper motor to scan the document.

Options :

1. # cover sensor
2. % scan head

3. % print head
4. % logic board



Question Number : 16 Question Id : 25498910947 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

HICaS TR & UgH 7, # guur, 79, fheex iR cCD (@mel-gfird fearsy) wRoft wnfia
g o T=I1aW &l W5 B & o dee 3R RWR Ale? &t Heg A M I S g |

Options :

1. ¥ PR YW
2. ¥ IS
3. % flicge

4. % QD s

Question Number : 17 Question Id : 25498911246 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a valid IP address type?
Options :

1. ¥ Unfreezed

2. % Public

3. % Private

4. % Dynamic

Question Number : 17 Question Id : 25498911246 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

frafafed & @ o T A MUt udl UeR 181 82
Options :

1. ¥ 3PHISTS

2. % UfsdTh

3. % grgde

4. % SIS

Question Number : 18 Question Id : 25498913576 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following protocols is NOT related to the delivery of email on the internet?
Options :

1. # Post Office Protocol (POP)

2. % Internet Message Access Protocol (IMAP)

3. % Simple Mail Transfer Protocol (SMTP)

4. ¢ Simple Network Management Protocol (SNMP)



Question Number : 18 Question Id : 25498913576 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fFafifad 7 3 o1 91 Ui ld $ec R 3-Hd & feciadl 3 eifdd 781 &2
Options :

1. % URe by WeldhId (POP)

2. % Fec T TR UIeIdId (IMAP)

3. % RiUd Od < gwR Weldbid (SMTP)

4. ¢ RiUd Jegd AR Uieidid (SNMP)

Question Number : 19 Question Id : 25498913586 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

To change how your items appear in File Explorer, select on the ribbon and choose between
showing icons, lists, details and more in Windows 11 OS.

Options :

1. ¥ View
2. % List

3. % Show
4. % Display

Question Number : 19 Question Id : 25498913586 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

BIgd TRITIRY 7 310 3M3eH $a faaTs d §, 78 geaq & g, Red ™ BT TG B
3R fISIS 11 3w # g, Jfad, faarulf ok sifdes e & o |

Options :

1. ¥ & (View)

2. % foRe (List)

3. % T (Show)

4, % %@(Display)

Question Number : 20 Question Id : 25498913641 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which compression algorithm is used in the ZIP file format and in the GNU tool gzip?
Options :

1. ¥ Lossless data compression algorithm

2. # Transform coding

3. % Lossy data compression algorithm

4. % Predictive coding



Question Number : 20 Question Id : 25498913641 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ZIP TT3d WIHC 3R GNU € gzip # 9 & 9 T Yditea sreifen &1 Iudi foar S g2

Options :

1. ¢ QMG STl HRIRE ENRYA
2. % TABIH HIfST

3. % AT ST HHIRME AANRYH
4. % Yfsfaea wifen

Question Number : 21 Question Id : 25498919463 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a broadband connection?
Options :

1. ¥ Dail up

2. % Digital subscriber line

3. % (Cable Modem

4. #® Wireless

Question Number : 21 Question Id : 25498919463 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
ST ¥ DI SISaS HaRM g1 87
Options :

1. ¢ S1d 3

2. % fSfSIed Teushiger oA

3. % had Aled

4, % R

Question Number : 22 Question Id : 25498922042 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In  cipher method, some sort of permutation is applied on plain text.
Options :

1. % circular

2. ¥ transposition

3. % gsubstitution

4. % transposition and substitution both



Question Number : 22 Question Id : 25498922042 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
7Wﬁﬁﬁ,ﬁWW@W%W@ermutaﬁon) Wﬁ?ﬁﬂﬁ%l
Options :

1. % THeR

2. ¢ TIUISIRH

3. % Giode®H

4. % TIAOONRA 3R A e@E el

Question Number : 23 Question Id : 25498922622 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which printer produces a comparatively low-quality image?
Options :

1. # Laser

2. % Dot matrix

3.% 3D

4. % LED

Question Number : 23 Question Id : 25498922622 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

e & 9 &1 1 flier aes U 3 e T[urad & 7 edar 82
Options :

1. % WOR

2. ¢ Slc Ofe

3.% 3D

4. % LED

Question Number : 24 Question Id : 25498922749 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is software that aids in gathering information about a person or organisation
without their knowledge?

Options :
1. ¥ Spyware
2. % Flowware

3. % Adware

4, % Freeware



Question Number : 24 Question Id : 25498922749 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fofeiad 7 @ o 91 gitedR fHdt safad a1 iTed & IR | 36! BRI & 1 STHeR] e
B A eIl Pl 82
Options :

1. ¥ WA
2. % TRIOR
3. % TSAW
4. % HIOTR

Question Number : 25 Question Id : 25498924471 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a process that manages how and where the data on a storage disk, typically a
hard disk drive (HDD), is stored, accessed and managed?

Options :

1. #* Input/Output System

2. ¥ File System

3. #® Process Management System

4. % Disk Scheduling System

Question Number : 25 Question Id : 25498924471 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

5 & ¥ M i ufshar I8 weitd a3 fb Wk f$%p, 3R )R 818 f$% $13d (HDD) W Sl
&Y 3R FEl WBId, TaY 3R Fefed farar Srar g2

Options :

1. % gAYc/3m3cyc Req
2. ¢ BIgd RieH

3. % TR Ao Ren
4. % &% Aol Rieeq

Question Number : 26 Question Id : 25498924517 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following files has .8bi file extension?
Options :

1. # Adobe Photoshop Layer File

2. % Adobe Photoshop Document

3. % Adobe Photoshop Plug-in

4. % Adobe Photoshop Edited Image



Question Number : 26 Question Id : 25498924517 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

U A f5T BIed BT eI .8bi gidT 82

Options :

1. % 3fSIdl WICIATY AR BIgel
2. % 3fSell BICIY SlagHC

3. ¢ JSIdll BICIRIY ©-87

4. % JSI€l BICIY USCS THS

Question Number : 27 Question Id : 25498924613 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

.xml is the extension of:

Options :

1. ¥ Extensible Markup Language (XML) file
2. % Extensible Mobile Language (XML ) file
3. # Example Markup Language (XML) file
4. # Extensible Markup Learning (XML ) file

Question Number : 27 Question Id : 25498924613 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

xml F9 7 B frd B1sd &1 UaqeTH 72
Options :

1. ¢ URICRISS AT 37T aidel (XML) HIsd
2. % TRICRITT HiaT3d dvas (XML) BT3d
3. % T HIH3AY ide (XML) BIgd
4. % UIGRITH A3 Al (XML) BTsd

Question Number : 28 Question Id : 25498925477 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following file extensions refers to a presentation software file?
Options :

1. ¥ pptx

2. % doc

3. % obj

4. % exe



Question Number : 28 Question Id : 25498925477 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TR & P o1 Prael TeHeR U IST SedaR wige B Fafia aed 32
Options :

1. ¥ pptx

2. % doc

3. % obj

4. % exe

Question Number : 29 Question Id : 25498938511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

mode starts Windows in a basic state, using a limited set of files and drivers. Observing
Windows in this mode enables you to narrow down the source of a problem and can help you
troubleshoot problems on your device.

Options :
1. % Scan
2. % (ritical
3. ¥ Safe

4. % Normal

Question Number : 29 Question Id : 25498938511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
IS fdSe ) IR a1 YRe el 7, s Tiftrd T & wisd ik S1EaR S& T
fPu o &1 39 HIs # IS &) 31 T 31U YT & Hid Bl HH HR Ihd ¢ 3R 304 fSagg i)
A3 BT R0 H3A H Aeg IR 9dhd o
Options :
1. % b
2. % fohfchd
3. I
4. % Frdq

Question Number : 30 Question Id : 25498940623 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The boundary value analysis belongs to:
Options :

1. ¥ black box testing

2. % white box testing

3. % gystem testing

4. % unit testing



Question Number : 30 Question Id : 25498940623 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T A1 fazayor (boundary value analysis) o O Hefed grar %?
Options :

1. ¥ &I Sl TRIE0T

2. % e Iy UIar

3. % RcH wigun

4. % [T GRA&0r

Question Number : 31 Question Id : 2549897041 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
You can remove your email address from spam subscription lists by

Options :

1. # not buying anything online so that junk mail senders will not having anything to benefit by
2. % sending them nasty replies when they send any mail

3. # simply deleting the messages

4. ¥ clicking the unsubscribe link

Question Number : 31 Question Id : 2549897041 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

3Mg GRT W Yewd Gt F -1 SHd UdT 821 Ihd gl
Options :

1. % $o ot SfiAars 7 @RIe, o Sid Td US| &l SUHT Big Ty el [T
2. % OF d Pls A Hol, A Io YHDT HT STATE HAAB
3. % TS &l fSdlic dRPp

4. ¢ TIPS foich IR faedh B

Question Number : 32 Question Id : 2549899029 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

refers to the act of sending unsolicited messages, often excessively, about a product or
service by email, SMS or social media.

Options :

1. ¥ Spamming
2. #® Snooping
3. #® Phishing
4. % Jacking



Question Number : 32 Question Id : 2549899029 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

o dgd 309, THUHTY g7 e Hifear gRT fed Sare a1 Jar & IR H SRR
A AT H 3FTaTg e x Ao & Hri J gl

Options :

1. ¢ Wit
2. % iU
3. % fiBfRiT
4. % S

Question Number : 33 Question Id : 2549899079 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
E-business stands for:

Options :

1. ¥ Electronic Business

2. % Electron Business

3. #¥ Electric Business

4. % Bconomy Business

Question Number : 33 Question Id : 2549899079 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
ERREL g Roeaeg:s i)

Options :

1. ¥ Electronic Business (séa@'ﬁﬁ %ﬁﬁﬂ)
2. % Electron Business (3¢ fool=)

3. ® Electric Business (ﬁ% foor)
4. % Economy Business (S®ITH! fool-4)

Question Number : 34 Question Id : 25498913334 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Alt+W is used for which of the following in MS-Word 2019?
Options :

1. ¥ Go to View tab

2. % Go to References tab

3. ®¥ Go to Mailings tab

4. % Go to Review tab



Question Number : 34 Question Id : 25498913334 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 &, Alt+W T IUaNT 99 #  frge fore fsar smar g2

Options :

1. ¥ T R oM & forg

2. % Y3 ¢§ W o & forw
3. % AfHT ¢g W oA & ferw
4. % R TIWIA & fog

Question Number : 35 Question Id : 25498913346 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following shortcut keys in MS-Word 2019 is used to go to References tab?
Options :

1. ¥ Alt+S

2. % Alt+M

3. % Alt+R

4. % Alt+W

Question Number : 35 Question Id : 25498913346 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 &, by ¢ TR o1 & o g 7 O {59 H1-a18 Wicdhe o1 IUTNT fohan ST 82

Options :

1.¥ Alt+ S
2. % Alt+M
3. % Alt+R
4. % Alt+W



Question Number : 36 Question Id : 25498919186 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The groups shown in the image are part of tab in MS-Word 2019.
% Cover Page v . I-E} Shapes ¥ ?= SmartArt
m Blank Page Table Dictures tﬁ lcons d:]] Chart
= Page Break v ¥ €0 3D Models v 5. Screenshot v
Pages Tables lllustrations
Options :
1. ¥ Home
2. ¢ Insert
3. ¥ Mailing

4. % Reference

Question Number : 36 Question Id : 25498919186 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Bfa ¥ 3T ¢ IHE MS-Word 2019 & °d & fg= g
% Cover Page v . IE) Shapes 25 SmartArt
m Blank Page Table Pictures € 1cons Iﬂ] Chart
== Page Break v ¥ €0 3D Models  ~ rri-,l Screenshot v
Pages Tables lllustrations
Options :

1. % g

2. 3¢
3. % gfcr
4. % YHg

Question Number : 37 Question Id : 25498919217 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An email address consists of which two parts?
Options :

1. ¥ User name and domain name

2. % User name and country name

3. ¥ Domain name and country name

4. % Country name and Company name



Question Number : 37 Question Id : 25498919217 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SHA Ud H DI A &l T BId &2
Options :

1. ¥ SUARTH I A1 SR SIH A
2. % IONTEHAT A1 3R S BT M
3. % SO A 3R <= BT

4, % Y BT ATH 3R HU BT 719

Question Number : 38 Question Id : 25498919230 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In MS-Excel 2019, Add Level, Delete Level, Copy Level etc., are the options under the dialog
Box in Sort & Filter Command Group under Data Tab.

Options :

1. # Filter
2.9 Sort

3. % Alignment
4. % Font

Question Number : 38 Question Id : 25498919230 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H, T Tiad, fSdlic dad, Sidt dad ofe, Se1ed & 3iavid dic iR fireex HATE Ju
¥ erdi St ¥ sidvid e ¥

Options :

1. % flhecx

2. ¢ Tic

3. % 3fcgTHe

4. % ol

Question Number : 39 Question Id : 25498920654 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an internet search engine?
Options :

1. # Google

2. ¥ Web crawler

3. % Excite

4. % Baidu



Question Number : 39 Question Id : 25498920654 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAufefad o @ & 91 U Sexre T 9 81 82
Options :

1. * Google

2. ¥ Web crawler

3. % Excite

4. % Baidu

Question Number : 40 Question Id : 25498925246 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The network layer deals with which of the following units?
Options :

1. # Bits

2. % Bytes

3. % Frames

4. ¥ Packets

Question Number : 40 Question Id : 25498925246 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

eddh o $1 Hey 9§ 9 ford 3aTs 4 67
Options :

1. % fae

2. % dlgc

3. % 1pY

4. Ude

Question Number : 41 Question Id : 25498925496 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2019, how can you make standard document that can be used as a template?
Options :

1. # By saving the document in pdf format

2. % By making a copy of the document

3. % By saving on online drives

4.+ By saving the document as .dotx file



Question Number : 41 Question Id : 25498925496 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H, 30 Ueh THT AF® SIFgHe fhd UHR 1 hd &, ol I & &9 § STaRT
T ST 9 g2

Options :

1. ® SIRHT Bl pdf BIAC H 9 IRb |

2. % Slaglc I T Ufd (pIUt) SHIHR |

3. % SlagHc DI S S13d R Yd Hb |

4. SIFGHT B .dotx BIZd b &Y H Y HRb |

Question Number : 42 Question Id : 25498933802 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The at the beginning of the URL indicates the protocol that the browser must use to request the
resource.

Options :

1. #* domain name
2. % port

3. ¥ scheme

4. % path

Question Number : 42 Question Id : 25498933802 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

URL &1 Y3 A I WP B ST Bl § T STSoR gRT RN BT SFRIY XA &
o IughT S A

Options :

1. % TR
2. % UIC

3. W

4. % Uy

Question Number : 43 Question Id : 25498938416 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

is a network of interconnected servers that speeds up webpage loading for data-heavy
applications.

Options :

1. % Virtual Private Network (VPN)

2. ¥ Content Delivery Network (CDN)
3. % ISDN

4, % Private Network



Question Number : 43 Question Id : 25498938416 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
TRER S TRl T Teh Aedd & Sl Sel-HRY 3ruat & forg dete afeT &l nfd ar g
Options :
1. % T3 YIgde Aedad (VPN)
2. ¢ e fferert Aeds (CDN)
3. ¥ ISDN

4. % Ygdc Jedd

Question Number : 44 Question Id : 25498942671 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

feature of MS-Excel will help you to present the data in graphical form to make it easier to
understand large quantities of data and the relationship between different series of data.

Options :

1. # Pivot Table
2. ¥ Chart

3. % Wizard

4, % Formula

Question Number : 44 Question Id : 25498942671 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 &1 BIR 3MUH! Scl B AMhdhd w0 H U B H Tridl Sl § o
IS AT H 3T 3R ST Bt e aansit & offw Yaey Bl THT T 8 G |

Options :

1. % fUge ¢
2. TCH
3. % fooms
4. % HiHam

Question Number : 45 Question Id : 25498942672 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In MS-Excel 2019, where a row and column meet is called a/an
Options :

1. ® column

2. # value

3. * address

4, % cell



Question Number : 45 Question Id : 25498942672 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 &, 581 U 3 3R Th Hiad A 8,39 FHelaal gl
Options :

1. % DlaH

2. % I

3. % UgY

4. 94

Question Number : 46 Question Id : 25498942688 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
How do we hide error values in a Pivot Table report in MS-Excel 2019?
Options :

1. ¢ PivotTable Analyze tab ---> Pivot Table group ---> Layout & Format tab ---> check 'For error
values show'

2. % Data tab ---> Layout & Format ---> check 'For error values show'
3. #% Formulas tab ---> Layout & Format ---> check 'For error values show'

4. % Insert tab ---> Layout & Format ---> check 'For error values show'

Question Number : 46 Question Id : 25498942688 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

B9 MS-Excel 2019 ¥ fige ¢aa Rl & Ffe 7 »4 fourd g2

Options :

1. ¢ UI3dic ¢qd TS g ———>Wé@ﬁ2q —--> WIS & WIHC ¢ > 'For error values
show' &I TP B

2. % ST CH > AICT & BIHC ¢ - 'For error values show' BT b B
3. % tﬁﬁi?lm CF > TWIMIT & WIHC ¢ -—> 'For error values show' I I HY
4. % 37\’:|_cF eF > 33T & BIHC ¢F ---> 'For error values show' @1 TP B

Question Number : 47 Question Id : 25498942689 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A website that is used for selling products is called

Options :

1. ¥ e-commerce website
2. % search engine

3. % web browser

4. ® e-governance website



Question Number : 47 Question Id : 25498942689 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Jg A9IT3C T Hgdldl & ORITR IdTe! o1 ST STl 82

Options :

Question Number : 48 Question Id : 25498942694 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In MS-Excel 2019, macros are used for  over a group of tasks.
Options :

1. ¥ deleting

2. ¥ repeating

3. % selecting

4. % searching

Question Number : 48 Question Id : 25498942694 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H, T 3 THg P & foTe Tepist 1 Ui fara ST B |

Options :
1. % feeifcn
2. it
3. % YalfdT
4. % i

Question Number : 49 Question Id : 25498942714 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following functions is used to find the square root of 64 in MS-Excel 2019?
Options :

1. ¥ =SquareRoot(64)

2. ¥ =SQRT(64)

3. # =FunctionSQRT(64)

4. ¥ =Square(64)



Question Number : 49 Question Id : 25498942714 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H 64 &1 I Hd J1d B o forg fFafafad # & fog thaw™ &1 IudiT foar S g2
Options :

1. % =SquareRoot(64)

2. ¥ =SQRT(64)

3. # =FunctionSQRT(64)

4. % =Square(64)

Question Number : 50 Question Id : 25498942717 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
is used to calculate the arithmetic mean of values 28, 76, 90, 40 and 48 in MS-Excel 2019.
Options :
1. ¥ =AVERAGE(28,76,90,40,48)
2. % =AV((28,76,90,40,48)
3. # =MEAN(28,76,90,40,48)
4. % =MEDIAN(28,76,90,40,48)

Question Number : 50 Question Id : 25498942717 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

BT STINT MS-Excel 2019 7 28,76,90,40 31X 48 I B0 AL 1 UM B &b
fore fpar SmaT g |

Options :

1. ¥ =AVERAGE(28,76,90,40,48)
2. % =AV(G(28,76,90,40,48)

3. ¥ =MEAN(28,76,90,40,48)

4. % =MEDIAN(28,76,90,40,48)

Question Number : 51 Question Id : 25498942736 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is the full form of '.xIsm'?
Options :

1. # Excel Micro—Enabled Workbook

2. % Excel Mean—Enabled Workbook

3. # Excel Most—Enabled Workbook

4. ¥ Excel Macro—Enabled Workbook



Question Number : 51 Question Id : 25498942736 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
frafafad & ¥ xism' &1 qul &0 a1 82
Options :
” N (o
1. # Excel Micro—Enabled Workbook (YaRIcT W—Q"IQCS dhdh)
2. % Excel Mean—Enabled Workbook (TaRId HH-T-acs dhad)
3. % Excel Most-Enabled Workbook (YaRicT ARe_Td S déﬂgcb)
4. ¥ Excel Macro-Enabled Workbook (TaRId Hhl- TGS dhgd)

Question Number : 52 Question Id : 25498942738 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the categories are typically organised along the vertical axis, and the values along the horizontal axis,
then the graph is called a in MS-Excel 2019.

Options :

1. ¥ Bar chart

2. % Column chart
3. ® Pie chart

4. % Doughnut chart

Question Number : 52 Question Id : 25498942738 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

gfe AT Y IR W SHeafer 31ef & 1 SaafRyd fosar Sirar g, 3Nk AT &fast sief & a1y
AR fHT 1A §, a UTH BT MS-Excel 2019 H CIRSIGIR

Options :

1. ¢ §R A
2. % HIaq Ac
3. % grRATe
4. % ZHc A

READING COMPREHENSION

Section Id : 2549898957
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 2549898998
Question Shuffling Allowed : No



Question Id : 25498921739 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
Read the given passage and answer the questions that follow.

Jamun, endearingly associated with Lord Siva, is a delicious tropical plum-like fruit found abundantly in
many parts of the world. The fruit’s enduring association with Siva is recorded in the Puranas. The
celebrated Siva Temple, Jambukesvaram, near Trichy in South India has the jamun tree as the
sthalavriksha or tree of the locality under which a famous sage did intense tapas or penance.

Legends describe how Kartikeya, the younger son of Siva, once sported as a shepherd boy sitting on a
jamun tree and kindled the spiritual energy of Avvaiyar, the famous Tamil poetess. When the tired poetess
asked him to shake the tree to collect the fruit, he asked for her choice of ‘cold’ or ‘hot’ fruit. As she blew
the dust sticking on a fallen fruit, he teasingly asked her whether the fruit was too hot to eat. Realising
that the illiterate shepherd boy had fooled her by a play on words, the humbled poetess looked up to
behold the beautiful form of Subrahmanya.

Also known as jambul, jamun is eaten as a health snack in many parts of the world. Astringent and acidic
in nature, this pulpy sweet fruit is eaten with salt. The natural fruit has a single seed.

Jamun has a unique colour and taste. Its skin is satin-soft, gleaming and inky-dark like the heart of the
monsoon cloud. This is why the fruit is also known in Sanskrit as meghamodhini, meghavarna and
Shyamala. The sweet and tangy flavour of the ripe fruit is heavenly. The purplish patch that the fruit
leaves on the tongue when eaten is because of the plant pigment, anthocyanin (in Greek, ‘antho’ means
plant, and ‘cyan’ is blue).

Jamun is loaded with nutrients essential for good health. Its bark, leaves and seeds have been used since
ancient times to cure various diseases and ailments. Jamun tree is known to be effective in the treatment
of diabetes. Jamun juice in particular is gaining popularity globally because of the presence of bioactive
phytochemicals that minimises the risk of liver disease and cancer. The major sugars present in this ripe
fruit are fructose and glucose.

Sub questions

Question Number : 53 Question Id : 25498921740 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which God has been closely associated with the jamun fruit?
Options :

1. % Avvaiyar

2. % Subrahmanya

3. * Karthikeya

4.+ Siva

Question Number : 54 Question Id : 25498921741 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the passage, the jamun fruit is NOT used in the treatment of:
Options :

1. ¥ high blood pressure

2. % liver disease

3. % diabetes

4. % cancer

Question Number : 55 Question Id : 25498921742 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT one of the names of the fruit?
Options :

1. # Jambul

2. % Meghavarna

3. # Shyamala

4. ¥ Sthalavriksha

Question Number : 56 Question Id : 25498921743 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which part of the fruit gives it the purplish colour?
Options :

1. # The seed

2. ¥ The pigment

3. # The flesh

4. % The skin

Question Number : 57 Question Id : 25498921744 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The passage is primarily about:

Options :

1. # the trees found in the temples of South India

2. ¥ the colour, composition, taste and benefits of a particular fruit
3. # the names of the Jamun fruit in Sanskrit

4. % the legends associated with trees in the Puranas



Question Id : 25498921739 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)

fau QT B ufeu SR ST Yeifta ui & SR i

T g | T ST, T Wiy SWibfesiy sk ST ta & o g1 & s ow § YR HH
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Sub questions

Question Number : 53 Question Id : 25498921740 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ST W & 1Y g § {5 <adT &1 Adewy dey g2
Options :

1. % 3{[dUR

2. % {JIHTY

3. % PIfdby

4. g

Question Number : 54 Question Id : 25498921741 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
TR & 3FYR, S d &1 I9AN HAfeied # ¥ fordds SUaR & =181 foar Sl g2

Options :




1. ¢ 3o Yaqay
2. % gpd I

3. % AYAE
4. % HIR

Question Number : 55 Question Id : 25498921742 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fafaiad & § ®1F-91 SHH & d &1 U 3 71 g 82
Options :

1. ® Sgd

2. % Tgqul

3. % YIHAT

4. ¥ WA

Question Number : 56 Question Id : 25498921743 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

U Bd BT DI IT HIT 38 7T 7 &l 82
Options :

1. % ool

2. ¥ qUIG

3. % Tal

4. % e

Question Number : 57 Question Id : 25498921744 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

e T | @ qerd: feed et 82
Options :

1. % GIAT YR HGT H UTT & aTed g&ii |

2. ¢ Ua ORI % & W1, W, Wie SR any|
3. % S & Bd & fAfie Tepd 1|

4. % Q1N o 9l geff 9 defia daamursi

QUANTITATIVE APTITUDE
Section Id : 2549898958
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6



Section Marks : 6

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898999
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498928861 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What approximate value should come in place of the question mark (?) in the following expression?
(Note: You are not expected to calculate the exact value.)

(21.98)2 - (25.02)2 + (13.03)2 =2
Options :

1.¥ 25

2. % 12

3.% 10

4. % 65

Question Number : 58 Question Id : 25498928861 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAgfefad sdsre 1 Uy g (2) & RIM IR T fobd=1 A 3111 =nfge?
(Ae: SATIH! Y HIF P ITUFT IR BT TS T8l )

(21.98)% - (25.02)% + (13.03)2 = 2
Options :

1. ¥ 25

2. % 12

3.% 10

4. % 65

Question Number : 59 Question Id : 25498929007 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What approximate value should come in place of the question mark (?) in the following expression?
(Note: You are not expected to calculate the exact value.)

12.95 x 7.05 + 85.01% x 10.99 = 2
Options :

1. % 77586

2. % 77776

3. ¥ 79566

4. % 78356



Question Number : 59 Question Id : 25498929007 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
foferiad =it @ Uy g (2) & I WR T fdbd1 A S 91w
(Fre: 3MUYD! Y A B! TUHT HA DI SIRIH T gl )

12.95 x 7.05 + 85.01% x 10.99 = 2
Options :

1. % 77586

2. % 77776

3. ¥ 79566

4. % 78356

Question Number : 60 Question Id : 25498929044 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the given question, two equations numbered I and II are given. You have to solve both the equations
and mark the appropriate option.

I 6x>+19x+15=0
. 3y?+11y+10=0
Options :

% XY



Question Number : 60 Question Id : 25498929044 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

%qﬂﬁ,amlsﬁvnﬁuw%laﬁ:ﬁwﬂwﬁﬁﬁﬁmaﬁimﬁwww
|

I 6x>+19x+15=0
I 3y?+11y+10=0
Options :

% X=Y

X<y

w
S

-4

-

Question Number : 61 Question Id : 25498929147 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ratio of the present ages of a father, mother and daughter is 7 : 6 : 2. The difference between the
mother’s and daughter’s ages is 24 years. What is the father’s age at present?

Options :

1. *= 43 years
2. ¥ 42 years
3. ® 39 years
4. % 38 years

Question Number : 61 Question Id : 25498929147 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T fUdT, ATdT 3R S¢S IIHM 1Y BT SUTT 7 : 6 : 2 & | HIAT 3R ot B 3T b o7 BT 3R 24
Iy 81 gaA | ot &t oig fora 82

Options :

1. % 4399
2. 429N
3. % 39QY
4. % 3399



Question Number : 62 Question Id : 25498929660 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Let k be an integer such that 1 <k < 1000. Find the probability of selecting an integer k randomly such
that there exists at least one integer solution of the equation 6x% — 5kx + kZ=0.

Options :

1. % 0.5

2.9 0.166

3. % 0.333

4. = 0.667

Question Number : 62 Question Id : 25498929660 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
T TOTE k U uifeh § TR 1 <k < 1000 B 1 T YU k P! ATEfa5® U I I &1 Wbl I
HIFOTT FTTY THHRT 6x2 — Skx + k2 = 0 BT HH Y HH U YUIH 8 AIIG ol

Options :
1. % 0.5
2.9 0.166
3. % 0.333
4. % 0.667

Question Number : 63 Question Id : 25498929681 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The surface area of a cuboid is 22 cm? and the sum of the lengths of all its edges is 24 cm. The length of
each diagonal of the cuboid (in cm) is:

Options :

L V1T
11
3% 3V3
o VTT



Question Number : 63 Question Id : 25498929681 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TH U1 &1 JEIT &0d 22 ¥ 98 g 3R 39 Gt frIR] &t diaTs &1 T 24 T4 81 T 1Y &

U faepul 1 ofarg It H fobeT gl

Options :

% V11
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Question Number : 64 Question Id : 25498910277 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

M, Q, S, U and X have different heights. Only S is taller than X. Only U is shorter than M. How many

among them are taller than Q?
Options :

1. * None

2. % One

3. ¥ Two

4. % Three



Question Number : 64 Question Id : 25498910277 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ga%g,Usﬁvxﬁaaﬁw-&m%Ws,xﬁw%l Fad U, M I BleT g1 3781 I fpa=
9

Options :

1. * PIg Tl
2. % U
3./

4. % dH

Question Number : 65 Question Id : 25498914094 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rearrange the below letters to make a meaningful 5-letter word, and select from the given options the
word which is almost opposite in meaning to the rearranged word.

ARTYD
Options :
1. # Dirty
2. % Quiet
3. % Quick
4. % Quack

Question Number : 65 Question Id : 25498914094 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

e fT 7Y 31eRT ! gHafyd dHRdb 5 &R ATl U MU Ueg 18, 7T fau 7Y faewedi & 9 a8
Teg T ol TTHaRUd Wsg o 312 o TTHAT fausia 81|

ARTYD
Options :

1. * Dirty
2. % Quiet
3. % Quick
4. % Quack



Question Number : 66 Question Id : 25498919868 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Six people, E, H, M, O, T and U, are sitting in a row facing north. Four people sit between M and E. H
sits to the immediate left of E. O is an immediate neighbour of both U and M. Who sits to the immediate
right of T?

Options :
1.¥ H
2.% U
3.0
4. % M

Question Number : 66 Question Id : 25498919868 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

B8 A, E, H, M, O, T 3R U, SR & 3R Ug I U Ufad A 98 g1 M 3R E & & IR Afda
93 €I H, EF 3B TT ST 81 0, U 3R M &l &1 Fcbedd uSRt 81 T & 31 ¢ i 937182
Options :

1.vH

2.% U

3.%0

4. % M



Question Number : 67 Question Id : 25498927386 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Select the correct mirror image of the given figure when the mirror is placed at MN as shown below.




Question Number : 67 Question Id : 25498927386 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 25498928211 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If in a certain language, the coding is done as per the table and the conditions laid out below, then how
will 631420 be coded in that language?

9 3|2 |8 |L (5|7 | 64|80
M|E|BIN|K|{R|{H|T|D|]J

Conditions:

(1) If'the first digit is an odd number and the last digit is an even number, both are to be coded as ‘X’.
(i1) If the first digit is an even number and the last digit is an odd number, both are to be coded as “Y".
(111) If either the first or the last digit is 0, then 0 is to be coded as “W’.

Options :

1. * TEKBDW
2. ¥ TEKDBW
3. % TEKDBIJ
4. * TKDEBW

Question Number : 68 Question Id : 25498928211 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

gfe fodt fAfaya v &, = <) 1 arfereT oiR wraf & SR SIS &t St &, 39 U H 631420
DI HY Hedg (BT S

9 3|2 |8 | L |57 6|40
M|E|BIN|K|{R|{H|T|D|]J

P
%ﬁw 37 faww W8T & SIR Sifad sich T\ FBA1 &, @l GHl 1 'X' & U H Heds a1 ol

|
%ﬁm%wm%sﬁwﬁﬁ%ﬁwm%a‘raﬂl‘faﬁvyv%wﬁm@mw
|
(iii) afe Tga a1 3ifay 3 0 B, dt 0 B 'w' & =U H Heag fhar S el

Options :

1. * TEKBDW
2. ¥ TEKDBW
3. % TEKDBJ
4. % TKDEBW




Question Number : 69 Question Id : 25498928711 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the following number pairs, the second number is obtained by applying certain mathematical
operations to the first number. Choose the set in which the numbers are related in the same way as in the
following examples:

58,78
41, 61

Note: Operations should be performed on the whole numbers without breaking them down into
individual digits. For example, for the number 13, you may perform operations such as addition,
subtraction, or multiplication on 13 as a whole. However, splitting it into 1 and 3 and then performing
operations on those digits is not allowed.

Options :

1.9 73,93
2. % 35,65
3. % 25,40
4. % 50,20

Question Number : 69 Question Id : 25498928711 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fafafed Tem-gml & gas) T uge Tel R % TR Wfshard #eb U &1 1S g1 39
faeped o gfe Sred Tems 3t eR Teifid 8 S g Serexol # & T §:

58,78

41, 61

e dfshars Tl R dad Yuiie & U H &1 ofiH! a1y, 7 f 3= 3% "ew 3fdi 1 dIs &R
ITERT & foIE, TReT 13 B EIfSTE | 13 R 1 S arelt Wfehard S SireT, BT, o 311fS ad 13
RS A IBT g1 13 BT 1 3R 3 T dreAT 3R R 39 IR Wferant & &t SrAfd Tl g |

Options :

1.9 73,93

2. % 35,65

3. % 25,40

4. % 50,20
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Question Number : 70 Question Id : 2549895396 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Shimsha hydroelectric station is located in:
Options :

1. ¥ Karnataka

2. % Andhra Pradesh

3. % Tamil Nadu

4. % Kerala

Question Number : 70 Question Id : 2549895396 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ry g S Igafde® WH ®el W Ry 82
Options :

1. ¢ BIch

2. % Y T

3. % qiAeTg

4. % PR

Question Number : 71 Question Id : 25498912802 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Sania Mirza and Mahesh Bhupathi won the mixed doubles in which of the following tennis tournaments?
Options :

1. # US Open 2009

2. % French Open 2012

3. % South Africa Tennis Open 2009

4. % ATP Challenger Tennis Championship 2009



Question Number : 71 Question Id : 25498912802 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

v vt 73 sy 35 e Pt e et o P A Ry 2P gotfffe & R ot 22
Options :

1. % Uy 39 2009

2.« Td 31U 2012

3. % GIIYSATBIhT Y 31U 2009

4. % YA doR < AT 2009

Question Number : 72 Question Id : 25498932063 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who among the following is a famous sarod player?
Options :

1. # Zakir Hussain

2. % Hari Prasad Chourasia

3. # Shiv Kumar Sharma

4. ¥ Amjad Ali Khan

Question Number : 72 Question Id : 25498932063 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fFufafRad & ¥ &9 Te UAd WIS dIeh 82

Options :

1. % R goA

2. % gR UE IRRmn
3. % fR@ AR Al
4. 3(USIG 3l G

Question Number : 73 Question Id : 25498935456 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In India is vested with the responsibility of conducting monetary policy.
Options :

1. % Securities and Exchange Board of India (SEBI)

2. ¥ Reserve Bank of India (RBI)

3. # India Infrastructure Finance Company Ltd (IIFCL)

4. % Industrial Finance Corporation of India (IFCI)



Question Number : 73 Question Id : 25498935456 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

yRel B e Nl 3 T @ Rrdierd) Py 3 @ g gen 3 PRk &
Options :

1. % YRa ufayfa iR fafma a1 (SEB)

2. ¢ YR Red d& (RBI)

3. % ST SRCHFR W19 HuH! feiffes (1rcr)

4. % YR efie fa= A (ren)

Question Number : 74 Question Id : 25498935649 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The process of separating a crystalloid from a colloid by filtration is called:
Options :

1. ® emulsification

2. ¥ dialysis

3. ¥ coagulation

4. ¥ peptisation

Question Number : 74 Question Id : 25498935649 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fARTGH GRT TP DIASS U U fhicdlse Bl e B &1 UfchdT B T B8l ATl 22
Options :

1. % URRYIHRUT (emulsification)
2. ¢ 308 (dialysis)

3. % THG (coagulation)

4. % UM (peptisation)




Question Number : 75 Question Id : 25498935696 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The stages in the normal financial legislation include:

1. presentation of the budget

2. discussion on the budget

3. passing of Appropriation Bill
4. vote on account

5. passing of the Finance Bill

Select the correct answer.
Options :

1. % Only 1,2 and 3

2. % Only 1,3 and 5
3.% 1,2,3and 4

4.9 1,2,3and 5

Question Number : 75 Question Id : 25498935696 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A= faii faem & Fufafe @ror e g

1. dolC U d Pl
2. golc R I=T
3. faf~anT fadge uig AT

4. GG

5. fat fadaes aid &=

fau e fosedl & ¥ 8 SR |
Options :

1. % Pad 1,2 3R 3

2. % $Had 1,3 3R 5

3.% 1,2,331R 4

4.41,2,33R5

English Mock

Group Number : 2

Group Id : 2549895583
Group Maximum Duration : 5

Group Minimum Duration : 5

Show Attended Group? : No

Edit Attended Group? : No

Break time : 1
Mandatory Break time : Yes

Group Marks : 0



English Mock

Section Id : 2549898961
Section Number : 1

Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549899002
Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 76 Question Id : 25498946188 Question Type : TYPING TEST Display
Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various
life skills such as teamwork, socializing, decision making, independent and responsible living and
more. It aids the overall development of a child and children have fun during this process as they
get to explore new arenas.
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Question Number : 77 Question Id : 25498943003 Question Type : TYPING TEST Display
Question Number : Yes Calculator : None

Life is a beautiful gift given by God to us. The meaning of life is to exist in the World. Life is the
only aspect that distinguishes living creatures from non living creatures. While life is a blessing by
God not all the people understand its value while some people prefer to live lives independently. It
is always our choice to decide how to live our life. However all individuals need to understand the
importance of life and live it cheerfully without any regrets. Life should be meaningful otherwise a
person would not be able to survive. So in this article we will learn about the importance of life and
how to live a meaningful life. Having a life means you have a chance to achieve what you want and
enjoy things and live with people around you. Many of us do not understand the importance of life
and thus spend most of our lives with regret. Life is not all about pain and regret but about the
experiences and learning we have. The best thing about life is that it keeps moving forward. No
matter what happens in our lives at one point our life keep moving and so we should also learn to
move on in our life without any regret. Whatever happens in life it happens for a reason. So instead
of blaming our circumstances we should understand the reason behind it and enjoy every aspect of
life. Many of us get sad when we experience failures or rejections in life. We start thinking that our
life is waste and no good can happen to us. That is not true. We must see the positive side of failures
and rejection. Every failure teaches us an important lesson and makes us stronger to fight in a
difficult time. That is why failures have their importance in our lives and a person cannot succeed
in his or her life without experiencing failures. Another thing we misunderstand about life is pain
and sadness. When we receive pain we think that life is all about pain and we cannot be happy. Just
like Joy the pain has its equal importance in life as there is no meaning of joy without pain. Life
will be too dull to live and we would not be able to understand its importance. We all want to
achieve the most before our death as there is no certainty of life. To earn everything we get too
much involved in the work that we forget spending time with our self and our loved ones. But that
is the thing about life. We lose the special moment we could create with our loved ones. To live a
meaningful life one must give equal importance to relations and work as life is too short to spend
being a workaholic. As a human being we always want things to happen as we planned. But we
need to understand that by regretting and we are wasting the golden moments of our lives in pain
and sadness. We should be happy in every situation and accept it. Life is too short to waste or
regret. So one should always have a positive attitude towards life and try to live a meaningful life.
Be kind and happy to enjoy life at the fullest.
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